Note: given the fact that you’re ‘obliged’ to answer the weekly questions, try to profit the most from the task:

- Start by reading the lecture notes (twice).
- Looking at them as little as possible, answer the questions.

The answers of the questions of L23 should be handed to me at the beginning of the 2nd test. They should be manuscript (not typewritten) and preferably based on schemes (as I do in the whiteboard). Keep a copy for yourself.
Please write Lecture 23 in bold at the beginning of your answers.




L23: The doctrine of the immaculate transfer

1.Describe the evolution from 1990 to 2010 of the trade balances of the EZ as a whole as as its Northern and   Sothern countries.
2. What’s the DD? And the AD?
b) How do we arrive from DD to AD? 

3. Present the two ways of looking at the value of the trade balance of a country.

3. a) “The TD of the South back in 2010 could have been eliminated through a reduction of its DD by the exact amount of that TD.” Do you agree? Explain.

b) “The TD of the South back in 2010 was eliminated through a reduction of its DD by more than the size of that TD.” Do you agree? Explain. What were the effects on unemployment? 
4. The EZ is the world. Suppose that the propensity to spend of Southern residents on South’s output is equal to the propensity to spend of Northern residents on South’s output (and vice-versa).

a) “In this case, a trade imbalance between the two regions may be eliminated if the deficit region reduces its DD by the exact amount of its deficit and the surplus region increases its DD by the exact amount of its surplus.” Do you agree? Explain.
b) What will be the consequence on the outputs of the two regions? Explain.

5. In the real world, the propensity to spend of Southern residents on South’s output is larger than the propensity to spend of Northern residents on South’s output. Why?

6. 60% of the expenditure of each region is on services.  Taking the starting point of the lecture, and using a scheme, analyse and quantify the impact of an increase in Northern DD by 20€ and of reduction in Southern DD by 20€ on the:


a) Trade imbalances of the two regions (use the first way of looking at the value of a trade imbalance).


b) Outputs of the two regions.

7. The fact that ‘the propensity to spend of Southern residents on South’s output is larger than the propensity to spend of Northern residents on South’s output’ implies that 
A reduction in Southern DD = An increase in Northern DD

end up shrinking Southern output and worsening its trade deficit. Why?
